
Tactical Sports Parts 
is a registered trademark of

pp-dev.com UG 
(haftungsbeschränkt)

Ernst-Augustin-Straße 7
12489 Berlin (Germany)

support@tacticalsportsparts.com
tacticalsportsparts.com

Anleitung und Warnhinweise sind vor der Nutzung zu lesen.
Manual and Warnings are to be read before any usage and handling.

Lesen und verstehen Sie alle Vorsichtshinweise, Warnungen und Bedienungs-
anleitungen, bevor Sie einen Paintball-Markierer oder ein Paintball-Markierer-
Zubehörteil verwenden.
Read and understand all cautions, warnings and manuals, before the usage and 
handling of any paintball marker and paintball marker accessories.

Einbau und Wartung nur durch autorisiertes Fachpersonal.
Installation and maintenance are only to be carried out by authorized personnel.

Unsachgemäße Installation oder Handhabung kann zu schweren Schäden am 
Material des Paintball-Markierers und dem Zubehör führen!
Careless installation, use or misuse may result in severe damage to the paintball 
marker and any or all accessories!

Unsachgemäße Installation oder Handhabung kann zu schweren Verletzungen 
oder zum Tod führen!
Careless installation, use or misuse may result in serious bodily injury or death!

Paintball-Markierer dürfen nur in Verbindung mit einem für Paintball zugelas-
senen Gesichts-, Augen- und Ohrenschutz benutzt werden.
Paintball markers may only be used when proper eye, face and ear protection is 
worn by the user and everyone within range.

Kein Spielzeug
This is not a toy!

Vor und nach jedem Gebrauch auf Defekte oder Beschädigungen prüfen.
Check for damages or defects before AND after each use.

Bei Defekten oder Beschädigungen nicht verwenden und an den Hersteller 
wenden unter: support@tacticalsportsparts.com.
DO NOT use when any damages or defects are detected. Contact the manufactu-
rer at support@tacticalsportsparts.com.

Bei Problemen mit dem Paintball-Markierer wenden Sie sich bitte an den 
Hersteller des Paintball-Markierer.
If any problems occur with the paintball marker, please contact the manufacturer 
of the paintball marker.

Bei Problemen mit dem HPA-Druckluftsystem wenden Sie sich bitte an den 
Hersteller des HPA-Druckluftsystems.
If any problems occur with the HPA pressure system, please contact the manu-
facturer of the HPA pressure system.

Hinweise  |  Warnings
Nur Menschen über 18 Jahre dürfen einen Paintball-Markierer und Paintball 
Markierer-Zubehör ohne Aufsicht von Erwachsenen oder Eltern bedienen 
oder handhaben.
Must be 18 years of age or older to use and handle any paintball marker and 
paintball marker accessories without the supervision of an adult or parent.

Prüfen Sie vor dem Einbau und dem Gebrauch des Produktes die Gesetze 
Ihres Landes.
Please conform to all local, regional and state regulations and laws with 
regards to installing, using, handling and operating this product.

Nutzen Sie Ihren gesunden Menschenverstand und haben Sie Spaß.
Please use common sense and have fun.

 tacticalsportsparts.com

CHARGING HANDLE

T15
ONERO

 tacticalsportsparts



 Anleitung
Hinweis: Für die Montage wird nur der Upper der T15 benötigt. 
Sehr hilfreich ist dabei eine Pinzette oder ein kleiner Schraubendreher. 

1.	 Entferne den „Bolt“ und nimm den „Bolt Sleeve“ heraus, indem du die 
„Sleeve Retainer Screw“ (Schraube) aus schraubst.

2.	 Löse die „Return Spring“ indem du den original „Charging Handle“ vorsich-
tig etwas zurück ziehst (weniger als 3 cm) und die Feder vom „Spring 
Anchor“-Pin herunter hebst.

3.	 Setzte den neuen Charging Handle ONERO ein und hebe die Feder vor-
sichtig über den Pin. (Feder nie über 5 cm spannen!)

4.	 Baue den „Bolt Sleeve“, samt Schraube und „Bolt“ wieder ein.

Anzugsmomente für die verbauten Schrauben:
–	 M5 Schraube max. 2,2Nm
–	 M3 Schraube max 0,2Nm

Lieferumfang
1 x ONERO Charging Handle mit Feder

2 x Ersatz-M5-Schraube

1 x Bedienungsanleitung

1 x Qualitätskarte

Contents
1 x ONERO charging handle with return spring

2 x spare M5 screws

1 x manual

1 x quality card

ATTENTION: When taking it apart, remember where which pin goes, so 
nothing gets mixed up. 

1.	 Take out the “Bolt”. Remove the “Bolt Sleeve” by unscrewing the “Sleeve 
Retainer Screw”.

2.	 Free the “Return Spring” by carefully pulling back on the original “Char-
ging Handle” (less than 3 cm/1 inch) and lifting the Spring off of the 
“Spring Anchor” Pin.

3.	 Put your new ONERO charging handle into the T15 and carefully lift the 
Spring back over the Pin. (never overextend the spring beyond 5 cm/2 
inches!)

4.	 Reinstall the “Bolt Sleeve”, including the Screw, and the “Bolt” back in.

Tightening torques for the screws:
–	  M5 screw max. 2,2Nm
–	  M3 screw max. 0,2Nm

 Manual
CH

AR
G
IN

G
 H

AN
D

LE

T1
5

O
N

ER
O

 tacticalsportsparts.com tacticalsportsparts

 Scanne mich  |  Scan Me

Für weitere Informationen
For further information
–	  Installationsvideo
–	  Installation video


